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s=0.0
ev=atan(1.0)

do 10 k=1,12

n=2%x*k
h=1.0/n

s=0.5%(1.0+0.5)

do i=1,n-1
s=s+1/(1+(h*1i)**2)

enddo

s=s*h

err=abs(s—ev)

write(6,100) h,err

100 FORMAT (5x,2f14.10)
10 continue
end

000 Fortran90 O 0O O0O0OOO0O0O0ODOOOO0ODOODOODOODOOOODODOOOO

real(8):: s=0.0,ev,h,err

0000000000000 D0O0D0O0000D0OOo0n
2 Fortran90 0 0 O OO http://hyper.gaia.h.kyoto-u.ac.jp/fortran90.htm 0 00000 00 O
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ev=atan(1.0_8)
do k=1,12

n=2xx*k
h=1.0_8/n
$=0.5_8*%(1.0_8+0.5_8)

do i=1,n-1
s=s+1.0_8/(1.0_8+(h*1i)*(hx*i))

enddo

s=s*h
err=abs(s-ev)
print’ (5x,2£28.20)° ,h,err

enddo

end

ooboaAbObOb0OO0ODDOODOODOOUOODUOODUOOUODOODODOOD
gogbbodobobogoboboboooooboobobobboooobod

a.out > daiker.dat <+

O0000000000 daikeidat OO OO O0OO0DOOO0ODOODODOO gnuplotOOOOODO
guoboboobbooooboobbobooann

gnuplot <+

ooooooooooooo
plot 'daikei.dat’ <

00000000000 0000000D00D000000000000000000000000
set logscale xy <+

O00000000o0oO0oD0o0oOoO0oOoonoOgOn plot 'daikeidat’ «~ 00000000 O0OOCOO
ooboooooooo-2000000000DOb0 A=00000000000DO0ODOOO
UO00O0O0DDOOset nologscale 0 D00 OO0DOODOOODOODOOODDOOOODOUOgnuplotd
OO0000OD0 exitOO DO Ohelp0D OO0 on-linemanual 0 0O OO0O00O0O0O0DOOO

OO0 chooooooooooo

18



L ‘daikei.dat’  +
‘ddaikei.dat’”  x

r ‘cdat’  *
0.01 | * -

0.001 — 4
0.0001 — _
1e-05 — * 4
1e-06 — _

1e-07 * * b

T
X
1

1e-08 |

1e-09
0.0001 0.001 0.01 0.1 1

O 1000000000 Fortran, 1000 Fortran,COOODOODOOOODOO

#include <stdio.h>
#include <math.h>

main ()
{
int i, k, n;

float h, s, ev, err;

s = 0.0;
ev = atan(1.0);

for(k = 1; k <= 12; k++) {
pow(2, k);
h=1.0/ n;

B
1]

s =0.5x% (1.0 + 0.5);

for(i = 1; i <= n-1; i++) {
s=s8+1.0/ (1.0+ (h * 1) * (h * 1));
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err = fabs(s - ev);

printf (" %14 .10£%14.10f\n", h, err);
}

return O;

00000000 FortranOO OO OO0 0O0O0OO0O0O0O0O0O0OODOOOOOOOOOO

0000000000000 00000000000000000000000000000
0000000000000000000000000000000000000000000
o030

3 Uodgd

gboooooobooobooboooooboooooboobboobobooooobbo
gbobobuooooboouoooooooobbbbbobogbooobooooaoooboob
goobobbooooooooooooobooboooobobobobooboboooogo

goooobooboooboooooboooobooooobbobobboobbboooon

0000000008, =¢(2)=7?/6=1.644934 00 000000000000000000
gbbodguboooobobobbogbobooooboobobbooboboooaooooboan

ss=(4.0*xatan(1.0))**x2/6.0
write(*,*) ’ss=’,ss

n=1000000
s=0.0

C forward summation

do i=1,n
v=1.0/real (i)**2
SV=8+v
if (sv.eq.s) goto 11
sS=sv

enddo

00000000000 CPULDOOOOOOOOOOOOONOOOOOO
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11 ie=i-1

write(6,100) ie,s,v

C backwars summation

s=0.0

do i=n,1,-1
v=1.0/real (i) **2
S=s+v

enddo

v=1.0/real(n)**2

write(6,100) n,s,v

100 format (5x,18,2f12.8)
end

ugobbobobobooouoouobooboon

ss=(4.0*atan(1.0))**x2/6.0

print*,’ss=’,ss

n=1000000

s=0.0

! forward summation

do i=1,n

v=1.0/real (i) **2
sv=s+v
if (sv==s8)exit

S=8V

enddo

ie=i-1

print100,ie,s,v

! backward summation
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s=0.0
do i=n,1,-1

v=1.0/real (i) **2

s=s+v
enddo
v=1.0/real(n)**2

print100,n,s,v

100 format(5x,i8,2f12.8)

end

O0o0000ooOO0 0000000000 AQDOOO BOODOODO cOOOOOO

if A then
B

else
C

endif

O00000000ifAgoto 110000000 ADOOOO NODOOOODDOODODODOO
Fortran OO QOO OO.
cCOoooooooooooog

#include <stdio.h>
#include <math.h>

main()

{
long int i, n, ie;

float s, ss, v, sv;

4.0 * atan(1.0);
ss * ss / 6.0;

SS

ss
printf("ss = %12.8f\n", ss);
n = 1000000;
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s = 0.0;

/* forward summation */
for(i = 1; i <=n; i++) {
v =1.0/ (((float)i) * ((float)i));
SV = 8 + v;
if(sv == s) {
ie = i - 1;
printf (" %8d%12.8f%12.8f\n", ie, s, V);
break;

/* backwars summation */

s = 0.0;

for(i =n; i >=1; i--) {

1.0 / (((float)i) *((float)i));

s + v;

v

S

< W

=1.0/ (n * n);
printf (" %8d%12.8f%12.8f\n", n, s, Vv);

return O;

gboboooboobaon
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goboopooboboboooobooon
0000 20 x=200000000 1/(2\/5):0.3535534DDDD ARODOODODO

fle+h)— f(z—h) _
o  fl@) =V (7)

gooboboobobbooooboooooobobooboboobooboDd FortranOO OO OOOO
go

ev=0.3535534
do k=1,30
h=1.0/2.0%xk
dif=(sqrt (2+h)-sqrt (2-h))/(2.0%*h)

err=abs(dif-ev)

write(6,100) h,err
enddo

100 FORMAT(5x,2f14.8)

end

gooooooooon

ev=0.3535534

do k=1,30
h=1.0/2.0%*k
dif=(sqrt(2.0+h)-sqrt(2.0-h))/(2.0%h)
err=abs(dif-ev)
print’(5x,2f14.8)’ ,h,err

enddo

end

0000000000 gnuplot000000000 A=1/2"0000000000000000
000000000 A=1/22800000000 000000000
000 coooooon
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0200000000000000000000000DO0OCODOO0O0O0O FORTRAN,COO
ugbobogogoboodaogboobbad

#include <stdio.h>
#include <math.h>

main()

{
int k;
double h, ev, dif, err;

ev = 0.3535534;

for(k = 1; k <= 30; k++) {
h=1.0/ pow(2.0, k);

dif = (sqrt(2.0 + h) - sqrt(2.0 - h)) / (2.0 * h);
err = fabs(dif - ev);
printf (" %14.8g%14.8g\n", h, err);

}

return O;
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googogd
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6 LUUgoobooobooood

Ub0D0oO000 Fortran90 0 0D 0ODO0ODOO0OOOOO0OOO0OOOO0OOODODOODOOOO
goooon

double precision s,h,err,ev

integer k,i,n

s=0.0d0
ev=datan(1.0d0)

do 10 k=1,12

n=2%%*k
h=1.0d0/dble(n)

§=0.5d0*(1.0d40+0.5d0)

do i=1,n-1
s=s+1.0d0/ (1.0d0+ (h*dble (i) )**2)

enddo

s=sxh

err=dabs(s—ev)

write(6,100) h,err

100 FORMAT (5x,2f14.10)
10 continue
end

ubogoboooboon

real*8 ev,h,dif,err
integer k

ev=0.3535534
do k=1,30

h=1.0d0/2.0d0**k
dif=(dsqrt(2.0d0+h)-dsqrt(2.0d0-h))/(2.0d0*h)
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err=dabs(dif-ev)

write(6,100) h,err
enddo

100 FORMAT(5x,2f14.8)

end
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